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To 4ind '%% , Ta'te Acv‘wad"we
og §f with res‘)ec:l' to x. Treat

a" o‘l“\er VaY, OL'QS as constants.

o : X
@ 3% ( COS(x)sma +wuxz+ ryyvhe
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To 4ind —g-ﬁ- , Ta'te Aef‘wad"we
0(1\ §f with res?ec:l' to x. Treat

a" o-l"\er VaY, GL'QS as constants.

Exa\m?‘ és-

O = (3x)=3

o .
@ 3¢ ( COS(x)smz +wuxz+ ryyvhe



To 4ind —g-ﬁ- , Ta'te Aef‘wad"we
0(1\ §f with res?ec:l' to x. Treat

a" o-l"\er VaY, GL'QS as constants.

o .
@ 3¢ ( COS(x)smz +wuxz+ ryyvhe

= -sin(x) sint +dwux +

T+A



To 4ind —g-ﬁ- , Ta'te Aev‘warﬁve
og ¥ with resrec‘l' to x. Treat

all o'l'\\er VaY, OL'CS as constants.

Exam?\et
¥: 'Rz —- R, ‘(x.}p = 313-2- 8124-7.33



To 4ind —g-ﬁ- , Ta'te Aev‘warﬁve
og ¥ with resrec‘l' to x. Treat

all o'l'\\er VaY, OL'CS as constants.

2

:R =R, -‘-(x,z) = 313-2- 8124-7.33




TO ‘FW\A 2$

FY AR
og ¥ w'\'l"\ resrec‘f +to x. Treat

all |
o-l'\\er \laﬁa\p'es as constants

EXaw\?‘ei
$::R =R, (= 3} = 313-2- 8124-733

3$ (x ) = 3*8" )6 x

a'te Aev'wad"we

3-;(4.2)‘-' 3:2-16-4 = 12-64=-52



TO ‘FW\A 3‘:

. L
! with resreci' to x. Treat

all other variables as constants

EXa\mg\ei
PR R, $lug)= 3ayt- 8547y

3$ (x ) = 33" |6

alte Aev'wad"we

3‘;(4,Z)= 32— 164 = 12-6%=-52
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measuyes S‘OPC Or A=0 CYoSS Section

og sfﬁf"" O‘c 3(’17) ot (xl%) - (a'b)-
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\A/r‘\-rin3 conventions

-;) 1Is weitten as




\A/Y"\"Hnﬁ conventions

® %(%-F

) 1Is weitten as




Ekomgksi

@ F- ind all four second Paur'i'ial devivatives

ot 'F(x.‘a) = 31«67'—21 +8 + az.
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Theotem: T§ F:R P is C?

2331 .



